ITE_107 & #9442 p ~ #2483 ~ 2 7 *

> 2.4 REESRWPERIE

J_‘:-v‘ %y /\g:,»la ] T’f‘"‘é %:ﬁ LL_§_§ %W?
#pw R . " o ‘g
=2 s 7
(™ )# AL B (IMY) v v v v
Linux # #:8 i£(ILA) v v v v
Linux i&Fg % 5o g 22 (ILB) v v v v
[ A )
EIFESY
Linux & # sz ¢ 72 (ILD) v v ‘4 v
T % > F A (ISN) v
RS-
Fax >89 5 h g F 2 (ISK) v
i e A (INQ) v v v v
R AN | REERERIRIAE T 2(INK) v v v v
PR RHIR 8 F 2 (NP) [ErEd] v v v v
g 3k sk p(IEA) v v 4 v
Nk eB g T S B v v v v
-Embedded Linux(IEX)
Him N % 5SS (IGA) v v v v
Beimp pag | 28R £ 2I(GB) v v v v
25k £ (1GC) v v v v
8 ¥ s (IEL) v
B F YA | R A A F e HI(I0L) v
iz Rk F X (1ID) v

HETD SR MR 20 A 4T MR R S A B



P 2.5 FRBE&EERE  HFRRER

ITE_107 & #9541 p ~ &40 ~ PR 2 7 #

¥goH FIFP 12 4 =3
wear - 1 ~
sagm | TRF RN /600
(™ )% B}
TR B (IMY) 1,600 =
Linux z #:8 i€ (ILA) 800 ~
Linux i&Fg « st ¢ 2 (ILB) 1,600 ~
Byt g — - —
Linux B 2c ;% e s g * pRIEE(ILC) 1,600 =
R
Linux A # <k 4 7 (ILD) 1,600 =~
T BT > H Pk (ISN) HAFERIR & 800 ~
Faw rg
Faw 2K A8 h % (SK) ke - 40 1,600 =
fes 1254 88 90 4 45
i3 e (INQ) (% 4 7 i©)d0) 1,600 ~
@ 1100 A
e AT | e R RS % 2 (INK) 1,600 =~
PR F Z(INP) 1,600 =
4 r 38k BB (IEA) 1,600 =
q”,% >Nk s
MoV RSB T S B
PR 1,600 =
- Embedded Linux(IEX)
i) 7 P (IGA) 800 =
i g4 | 25Ek £ 31(GB) 1,600 =~
25 2 #(1GC) 1,600 =~




ITE_107 & $#y#fL p ~ AT ~ BRZ 3 *

o P w 2 (moe|p e

HgEEia ¢
Ak 1 50 4L
e ¥ i (IEL) fed 124 X 90 448 1,600 =

(%4 7 5)dr)

@ 1100 A

HAEHAR 4
B HARd AR B HII(I0L) 120 ~ 43| 1,600 ~
‘ $ ke ¢ 30 42

fes 124 %

5

gy

;%\‘v

(347 flde)
¥ ik 60 A
LE AL

He -3 8 % 2 (1ID) 120 4 4| 1,600 =~

D 244
X k40 &

&4 0100 &




